LO — Use my understanding of averages to answer word
based problems

Find the Mean, Mode, Mean and Range for the following
(round all answers to 1 dp where applicable):
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The most expensive jumper in a shop costs £82. There are 3
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the range of costs of the jumpers?
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There are 5 different meals on offer in a restaurant. The
average price of a meal is £10. One price is missing. What is
it?

Meal 1 = £5, Meal 2 = £12, Meal 3 = £x, Meal 4 = £24 & meal
5=£3
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Paul is the tallest in the class at 2.01m. Kelly is the shortest
at 1.42m
The range of heights in the class is 59cm. Paul and Kelly are
also in the class.
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